Product Environmental Profile
Cover for hotel switch Lumina - white

Company information References covered

Hager WXDO055P, WXD055C

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version No PSR issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification Protec and cover domestic switching devices during 20 years.

WXDO055P

Use scenario based on :

PSR product Category : No PSR The functional unit is based on the use scenario recommended by the PCR for the category of the reference
0 product.

PEP ecopassport 1/6 HAGE-01296-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

%

PC 26.83 71.4% Stainless steel 0.25 0.7% Cardboard 8.58 22.8%
PE-LD 0.60 1.6% Silicon 0.03 <0.1% Wood 0.89 2.4%
Zinc 0.00 <0.1% Paper 0.34 0.9%

Other 0.04 0.1%

Total mass of reference product with raw material

packaging : T €

Total mass of reference product (Product +

packaging) SHESE

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation Use End of life Module D

o
f=
— ° 4
IS 2 =) z % 2
5 2 c c = £ o) 29 I}
S E 5 s 53 3 5 G|z g
] 8 = = ] © © cS 8 5
s 2 =] =) o @ c ST = 2 o 0 [ = <3 g3
= £ c c = S x5 g8 @Q c c € 2 5] [=JN] Q o8
c 5 5 2 3 c o =) 2 L c kel
20 I = c < 2 c o o T g S8 = e E < <
Q. c Qo - 2 %) ©
o] IS =] S c = IS5 =1 8 o 8 5 2 £ < £
39 2 S0 o © o £ a = g E® =Ryl 3 S ® g > 2 3
3 8 o 3] S = 25 < S 9 < S o o < 2 o = S < 7
= O < 8 a © & o a3 2 [0 & 2 =0 29 7] a5 5 2 & a2
L a 3 = < O © T c [v4 = 7] 3 5 ‘5 3 c c <) 4 2
T =] c B Q9 = Q o = o a o =] £ T QO = a E 0
T 5 =] 7] 5 = (] o) o T o © = c 9
g9 b g 2s 2s 535 s e 14 22 S A =8 a2 2
= ® S Q o > = = £ 4 L=
T 7 2 2 x= = i o =R m 3
o = = = 2 g £ 23 S
= i =2 3
£ <
S

B3 B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
1SO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including packaging,
to its place of use.

PEP ecopassport 2/6 HAGE-01296-V01.01-EN



Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.
Installation elements (non delivered with the product)

Elements non delivered with the product and needed to install the product are not considered.

Use

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 100% 0 0% 0 0% 0 0% 0 100%

For the considered scenario, the product has no energy consumption.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 14%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

Al calculations are done with EIME software version 6.2.3 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

Al-A3 A4 A5 Cl-C4
Europe - Europe Europe Europe

PEP ecopassport 3/6 HAGE-01296-V01.01-EN



Environmental impact indicators

- - Manufacturing Distribution S EUET] Use End Of Life

Indicators Unit ALA3 Ad | AS | B1-B7 | c1-ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq 4.65E-04 3.97E-05 2.51E-05 0.00E+00 2.06E-04 7.36E-04 -4.87E-05
Climate change - Total (PEF-GWP) kg CO2 eq. 1.76E-01 6.26E-03 1.18E-02 0.00E+00 3.73E-02 2.31E-01 -5.40E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -4.48E-03 0.00E+00 2.00E-03 0.00E+00 6.65E-04 -1.82E-03 -1.37E-04
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 1.80E-01 6.26E-03 9.82E-03 0.00E+00 3.67E-02 2.33E-01 -5.39E-02
(CFE"E‘E_EMC/ZT)Q&LZ‘”“ 15 e [ 05 S kg CO2 eq. 4.71E-05 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.71E-05 0.00E+00
Ecotoxicity, freshwater (PEF-CTUe) CTUe 1.75E+00 4.10E-03 1.25E-01 0.00E+00 1.11E-01 1.99E+00 -2.55E-02
EF-particulate Matter (PEF-PM) '”gi'gsggss‘)f 4.21E-09 3.23E-10 1.51E-10 0.00E+00 2.24E-09 6.92E-09 -2.01E-09
Eutrophication, freshwater (PEF-Epf) kg P eq. 1.09E-06 2.35E-09 1.25E-07 0.00E+00 4.76E-07 1.69E-06 -3.54E-07
Eutrophication marine (PEF-Epm) kg N eq. 1.03E-04 1.86E-05 1.16E-05 0.00E+00 3.61E-05 1.69E-04 -1.20E-05
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 1.06E-03 2.04E-04 7.38E-05 0.00E+00 4.10E-04 1.75E-03 -1.51E-04
Human toxicity, cancer (PEF-CTUh-c) CTUh 1.58E-09 1.10E-13 9.49E-10 0.00E+00 1.47E-11 2.55E-09 -1.71E-11
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 1.30E-09 2.13E-12 2.83E-11 0.00E+00 2.60E-10 1.59E-09 -1.35E-10
lonising radiation, human health (PEF-IR) kg Bg U235 eq. 6.56E-01 1.53E-05 1.48E-03 0.00E+00 1.83E-03 6.60E-01 -3.35E-04
Land use (PEF-LU) No dimension 1.40E-01 0.00E+00 2.30E-05 0.00E+00 6.66E-02 2.07E-01 -3.61E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 4.78E-09 9.60E-12 1.13E-10 0.00E+00 4.59E-09 9.49E-09 -7.68E-10
F;‘g;‘fggeggsa' ozone formation - human health |\ o ¢ N\MVOC eq. 3.57E-04 5.15E-05 1.72E-05 0.00E+00 1.27E-04 5.53E-04 -3.98E-05
Resource use, fossils (PEF-ADPf) MJ 3.99E+00 8.74E-02 8.58E-02 0.00E+00 5.83E-01 4.75E+00 -1.01E-01
Resource use, minerals and metals (PEF-ADPe) kg Sb eq 2.42E-07 2.47E-10 2.17E-10 0.00E+00 2.94E-07 5.37E-07 -8.97E-09
Water use (PEF-WU) m3 eq. 5.84E-02 2.38E-05 7.45E-04 0.00E+00 5.90E+00 5.96E+00 -1.16E+00
Resource use indicators

5 Manufacturing Distribution Installation Use End Of Life

Indicators NS | i | AS | B1B7 | ci.cA | GLOBAL | Module D
Net use of fresh water 1.36E-03 5.54E-07 1.74E-05 0.00E+00 1.62E-01 1.63E-01 -3.28E-02
Total use of primary energy 4.40E+00 8.75E-02 9.73E-02 0.00E+00 6.13E-01 5.20E+00 -6.29E-01
e NN IEASHEBIC RIS SHEIoY 3.99E+00 8.74E-02 8.58E-02 0.00E+00 5.83E-01 4.75E+00 -1.01E-01
Total use of renewable primary energy resources 4.08E-01 1.17E-04 1.16E-02 0.00E+00 2.98E-02 4.50E-01 -5.28E-01
Use of non-renewable primary energy, excluding
non renewable primary energy resources used as 2.88E+00 8.74E-02 8.58E-02 0.00E+00 5.83E-01 3.63E+00 -1.01E-01
raw materials
Use of non-renewable primary energy resources 1.12E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.12E+00 0.00E+00
as raw materials
Use of non-renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of renewable primary energy, excluding
renewable primary energy resources used as raw| 2.37E-01 1.17E-04 1.16E-02 0.00E+00 2.98E-02 2.78E-01 -5.28E-01
materials
Use of renewable primary energy resources as 1.71E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.71E-01 0.00E+00
raw materials
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary materials 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 4/6 HAGE-01296-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed

Non-hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Indicators

Components for re-use

Exported energy

Materials for energy recovery

Materials for recycling

Biogenic carbon content

Packaging

Biogenic carbon content (ratio)

Biogenic carbon content (declared unit)

Biogenic carbon content (functional unit)

Extrapolation rules

Manufacturing D

1.72E-02

istribution
A4

0.00E+00

Installation
A5

2.12E-04

0.00E+00

End Of Life

Cl-C4
9.95E-21

GLOBAL

1.74E-02

0.00E+00

2.21E-01

2.20E-04

4.13E-03

0.00E+00

4.79E-06

2.26E-01

0.00E+00

1.27E-04

1.57E-07

4.64E-07

0.00E+00

3.41E-09

1.28E-04

0.00E+00

Manufacturing D
Al1-A3

istribution
A4

Installation
A5

End Of Life

C1-C4

GLOBAL

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
3.01E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.01E-04 0.00E+00
4.07E-04 0.00E+00 1.01E-03 0.00E+00 0.00E+00 1.42E-03 0.00E+00
1.89E-03 0.00E+00 3.37E-04 0.00E+00 0.00E+00 2.23E-03 0.00E+00

Cardboard

2.80E+01

3.78E+01

3.95E+01

8.58E-03 3.37E-04 8.94E-04 9.81E-03
2.40E-03 1.27E-04 3.53E-04 2.88E-03
2.40E-03 1.27E-04 3.53E-04 2.88E-03
ADEME APESA/RECORD EN 16485
ardboard Pape ood
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation table based on real Life Cycle Assessment calculation, please see Appendix

Verification

Registration N°: HAGE-01296-V01.01-EN

Drafting Rules

PEP-PCR-ed4-2021 09 06

Supplemented by

No PSR

Verifier accreditation N°:

Information and reference documents: www.pep-ecopassport.org

Date of issue: 12-2024

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal e External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019

The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :

The picture has no contractual value.
All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a
concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.
The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

5/6

HAGE-01296-V01.01-EN



Appendix

-[MJ]
(PEF-POCP) - [kg of NMVOC eq.

(PEF-GWPY) - [kg CO2 eq.]

n, freshwater (PEF-Epf) - [kg P eq.]
Exported Energy - [MJ]
Land use ((PEF-LU)
Materials for recycling - [kg]
Net use of fresh water - [m3]
Total primary energy - [MJ]

)
2
»
8
g
8
8
2
2
5
2
5
=3
13
o

cation (PEF-AP) - [mole of H+ equiv]
mate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Hazardous waste disposed - [kg]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Materials for energy recovery - [kg]

Non hazardous waste disposed - [kg]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Radioactive waste disposed - [kg]
Resource use, fossils (PEF-ADPf) - [MJ]
Total non renewable primary energy - [MJ]
Total renewable primary energy - [MJ]
Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [M

Use of secondary mats
Water use (PEF-WU) - [m3 eq.]

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Eutrophicati

Human toxicity, non-cancer (PEF-CTUh-c) - [CTUh]

Renewable primary energy used as energy - [MJ]

Climate change-Fossi
sing radiation, human health (PEF-IR) - [kg Bq U235 eq.]

Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Non renewable primary energy used as energy - [MJ]

EF-particulate Matter (PEF-PM) - [incidence of diseases]
Renewable primary energy used as raw materi

Non renewable primary energy used as raw materi
Resource use, minerals and metals (PEF-ADPe) - [kg Sb eq]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]

Photochemical ozone formation - human health

o
£ (OIS o | 176ccn | aeas | 1o0eon | ameos | acoesan | 1rseson | roseos | 1oscos | ronecs | soreon | 172ece | roseos | 130es | ssoeor | raocon | sorean | roseon [ 130cas | 2arecr | 2omesto| nrzeioo| araeos | aziecs | ssreon | 1ot | 2srean | 1neon [ sooeson| 2szeor | assesan| asoesoo | aoeeon | ooneson | ocoeso | osaesan| ssseae
20
T <
$3
g (WDOITYOMN . iocs | 2ecc0n | snecn| 2oseon | arneos | oonevon | sorevoo| 11secs | sracan | 1oecs | sosean | ssece | soreos | 17seon | soson | suvecn | aoreos | sovecs | 2omean | 2seon | sasewn | suerco | so7ece | scseon | soseon | 130ecu | 2aveon | 1riees | sasero| 2dseor | sasesn | asoesoo | asoer | aooewo | amerto| oovevoo | sssecn
=
g TR OLOITT I oo | o26c0s | oo | sases | oooeioo | asoesan | aroeas | 2aseon | roscos | 2oieon | oomesto | oooeson | raoes | 2asesz | rsseos | asoescn | ootesoo | oo | ssiear | 2anecn | saueon | oooeioo| sstene [ sasero | suseos | rsreor | rurean | acoesco| arens | 2arero | sreon | arsece | 1o | ooneson | oo | asesan| 2ssecs
2
£3
8 DOLOITTOMMN s | s26c0s | ooneuan | wzseas | acoeuco | oooeson | asoecs | 2sseos | soseos | 2o [ oonevon | oo | sa0e1s | 2sseirz | 1sseos [ oooevon | ook | ouoeion | ssseor | 2o | araeaz | oooeio | ssoesz | szsero | saseos | ssrear | rireos | oooen| sruece | 2o | arseaz | srsece [ sareos | oo | ooesan| oooeeoo | zsseos
5 (OIS o | 110c02 | 200e0n | soes | oooeioo | asoesan | 1asear | raseor | sascos | aneos | oomesto| 21ze0u | saseo | zwsens | rasean | 2cos | roreas | aveos | 1raeos | assecs | ssseon | oooeioo| riseso | rsieso | 1r2mos | asseor | r1seae | acoeso| wsseaz | 2arero | ssseon | srsece | riecor | ooneson | oo | mesan| 7useon
S
T <
g
g DLOITTOMN :scs | 116ecz | 200c0s | sszeas | aooeuco | oooevon | rasecr | saseor | siseas | 7oseos [ oonevon | 21zeos | saseo | zeseas | naseos | 2soeos | roteos | ssreos | 7aeos | asseos | asseaz | oooewo | sseo | ssiero | 1r2eos | asseor | riseor | oooeon | ssseor | 2o | wsseaz | orsecs [ sseoz | oo | ooeran| oooesoo | 7aseos
(TR OLOITT TN coc.co | 00e:o0 | oo [ anesan | oo0eso0 | acoesan | ooneson | acoeoo | oonevan | sooesoo | acsesto | oooeson | acoes | aaneson | sooeoo | asoesan | oonesoo | acoesoo | oonesan | cooesco | omesto | oooeson | oo | oaueson | oooeoo | assescn | oonesoo | acoesco [ ooneson | cooeo | anesan | oooesoo | acoes | ooneson | oooeoo | asesan | oooesoo
5
o
2 &
IDOTOITTOMN o ccc-c0 | 0ok | ooneean | o00geoo | acoesao | oooeson | aooeeoo | oanesan | oooeeoo | acoesan [ ooneson | oooeoo | oanesao | ooogsoo | acoesao | oooeson | aooeeoo | oaoesan | oooeeoo | asoesan [ ooneson | oo | oaoesao | wooeeoo | acoesao | oooeson | ook | oonesan | oooeoo | aasesan | oooesoo | aooeso [ oooeson | sooeeoo | oanesan | oooesoo | acoece
2 DL oo | 57sec2 | soseon [ sz | oooeioo | asoesan | susear | areeor | sorcos | asoeos | ooesto| sssear | rores [ 2oveso | rosean | soseon | oonesoo | acoeioo | 1e2cer | arsecs | sareon | oooeion | ssseos | 2oiees | rareos | saeos | 2oseae | acoesco| sssear | 2oueor | ssror | srseon | 2oneor [ ooneson | oooero | omesan| soveoo
-
5 Q
20
i DTN e | s7secn | soseos | sereaz | acoewo | oooeson | vsseor | aeor | seieos | asoeon [ ooteo| ossear | sareas | 26nes0 | noseos | asseaz | oooero | ouoeion | sezeor | aroeos | sssear | oooeio | asocs | 2atecs | raeos | susean | 2onecz | oooeon | suseor | 2oseor | sssear | siseor [ 2sseaz | oo | omeran| oooesoo | ssoico
a (DL < ovccs | s.0c00 | 157en | smec2 | oooeeoo | acoesan | 2otz | ssaer | -1aoeos| asicon| oomesto | oooeson | ress | -Lasero] s3seon| sserco| oonesoo | aotco [ 328202 | covesco | -1oren | oooeson | rsero | 201200 | 35805 | ooesen | 5201 | aoesco [ -roreon| sores | orear| sason | szser | ooneson | oooeo | asesan| -rseron
o
g
= DL TOMMN - cccos | 55002 | 121608 | 52602 | aoeuco | oooevon | 2oseoz | -voseor | 1aeos | -eseas | oovevon | saseze | -zsess | 110 s11e0n | seieion| oooeroo | ouoeion | 276e02 | assezs [ -oaseoz | oo | 2aueto| 1060 | seseos | oooeson | sarear | ooneuon | vaseca | sasess | -vaseoz | soea [ sarecr| oooeeoo | oaesan| oooesoo | szear

PEP ecopassport 6/6 HAGE-01296-V01.01-EN



